
SAP ABAP table ROIKVD {TPI: Transfer structure - Scheduling/Transportation screen}

ROIKVD

CLIENT [CLNT (3)]

SHIFT [CHAR (1)]

DRIVERCODE [CHAR (10)]

VEHICLE [CHAR (10)]

TPLST [CHAR (4)]

RETPLANT [CHAR (4)]

OIGD

CLIENT [CLNT (3)]

DRIVERCODE [CHAR (10)]

 ROIKVD-DRIVERCODE = OIGD-DRIVERCODE 
0..N

0..N

OIGV

CLIENT [CLNT (3)]

VEHICLE [CHAR (10)]
 ROIKVD-VEHICLE = OIGV-VEHICLE 0..N

0..N

T000

MANDT [CLNT (3)]
 ROIKVD-CLIENT = T000-MANDT 

0..N

0..N
T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 ROIKVD-RETPLANT = T001W-WERKS 

0..N

0..N

TOIGH

CLIENT [CLNT (3)]

SHIFT [CHAR (1)]

 ROIKVD-SHIFT = TOIGH-SHIFT 

0..N

0..N

TTDS

MANDT [CLNT (3)]

TPLST [CHAR (4)]

 ROIKVD-TPLST = TTDS-TPLST 

0..N

0..N


